
8 Warks:

5.dvithmeticDroprecsions

Exncise -5.2 � 9,18,19 in page NoA - 124,126

2) Example - l3 in pagepage No 132

Examples-\s,l6 in page No:l3y

Exuncise-3� 4, 6, 8,t,1,l0,),15, 16,14,)8,19,20

in
page NA - 138,140

4Marks;

rob\ams

Pge No-6
Example -4 in page No -ii&

Exam ple -lo in PY No- (22

Exencise -5•2� t,l3,4 , 14 problems in pagt No- l24,126

s) nth tem tormula and its tems

6) Sum ot n tems rmula and its toms

Exoncise - 5'3- 5,12 ) l3,14,15ylb,)4� problems inpe Noo - 138

)Find the Swm ot tuo num boy which ane davisibleby
5.

) t the nth term of an Ap is 3+4n, then tinditsthen ind its common

ditfecence?

-20, -18,-l6,-.which term of this Ap is a first posihiue

term?

1 Wark:

) If nth term of an A-p: is an= 2n-6 then

Match the ollouing

P)

4) 2

) -2

2) Loth term ot an Ap i0,S,o,-5,.of is



) The nth term of Ap is an=3n-5, then Ha�ch the ollowin9:

) a P) 4

4)Ia,b,c ane in AP,thanb=

) If the Sum of n terms of an Ap. is given by S,n then

ratch the folbuinga
b) 3

c)

d) s

6) Tf an=3n+2 then match the tollowing:

A) az

B) a5 2) 3

4,6,8,1o,...in A-p. then 1oth term is

diffonances) Match the follouingA-p' with thairthair common

i),,3,5, .-.
i),-,-3,-5,... )2

iii)-o,1-2,4,"
) wrte the formula for

Sum ot n terms in Ap.

io) Hatch the tollowing:

a) InA-p. an=

b)InAp 8,1b,24,32, . n) Hultplesaf &

9 In Ap. Sn= i)at(n-)d
) 1,3,s:,9-.ane in A p: then match the

)Firstterm (a) n
folluaing)

Common diterence(ay b)
2

3)Sum of n tarms(sn)



12) I the tirstterm of an Ap is a and nth term isb, then

its Common differenca

3) It the nth term of an Ap is 2n+,then tho sum

n ter ms o the Ap is

u)which of the follouing
is not orm d an Ap?4)

A)x,2x,3x,4x•-. B) -2,0,2,4- )25,21,1a,l3...b),5,-5ar.
is)Sum of irst lo| whole numbers is

14) Ap is-8-l6,-l4,.then nth term is

11) I} 3yx,l)ane in A·p.then x=

18) The Sum

AP, ,-4=32,then Common diffaence of thisinan AP.

Ap is

ao) Match the
Jllauing

P)Sum ot tirstl0 naturalnumb0y

) Sum ot irstlo odd natural numbers n)55

)Sum af first nabural numbers i)100

2)ASumn ot first1o terms) of Ap 48,12...ot --- iS

22) nth term of Ap is

23) T 4 times the gth term of an Ap is equal to n timas its

ith term, then its 1gth torm is

24) wha is the Sum first'n natwnal numbos ?

as) 1f Sn- 4n-nt then Mateh the fluing:
a)

b) 3


